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including 1 page for General Instructions and three
blank pages for Rough Work in the last. In case
an examinee receives an incomplete or defective
Question Booklet, he/she should make a request
to the Acom Invigliator to change the same within
10 minutes of start of the exam.
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Calculator, Cellular Phone, Digital Diary, Log Table,
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MATHEMATICS

1. From a point Q, the Ilengih of the
tangent to a circle i§'24°¢im and the
distance of Q from'the centre is 25 cm.
The radius of the circle is

A) 12
B) 7
C) 125
D) 7.5

2. Two concentric circles are of radii 5
cm and 3 em. The length of the chord
of the larger circle which touches the
smaller circle is

A) 8cm
B) 2cm
C) 5em

D) 3cm

3. A chord of a circle of radius 10 cm
subtends a right angle at the centre.

Area of minor segment is
A) 27.5 cm?

B) 27 cm?

C) 28 cm?

D) 28.5 cm?

i

1. @ fog Q ], W& 39 W o Y it s
247 2RI QA g 25310, 1
ERkIRESy 18]

A) 12
B) 7
C) 12,5
D) 7.5

2. 3 gt g9 5 Q.. i 3 A, Femed
FE IR FWH W T NS ga i

i
A) st
B) 2 &1,
C) 5a.4.
D) 3.1

3. B 10 A0, I 0 99 6w =
T T TR S & | Y A o SR &
A) 27.5@.1.2
B) 27 9.4t.2
C) 28 &.1.2

D) 28.5 4.1t.2
3VD
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4. Area of the triangle whose vertices 4. 36 e w1 Sawe Rras vid (-5, -1),

(-5.-1),(3,-5), (5, 2) is (3,-5), (5,2)
A) 30 sq. units A) 30 = 51§
B) 31 sq. units B) 31 T gid
C) 32 sq. units C) 2=l s=d

D) 33 sq. units D) 33 = gié

5. (1+tan9+sec9)(1+oote—oosece)= 5. (1 +tan 6+ sec 6) (1 + cot6—cosec 8) =
A) 1 A) 1
B) 0 B) O
C)3 C)3
D) 2 D) 2

6. Sum of the areas of two squares 6. 31 T % ArwAT A 468 1.2 R | uf
is 468 m2, If the difference of their 75 GRAT T 7R 24 Hre R A
perimeters is 24 m sides of the two o §
squares are

_ A) 6., 9,
A)6m,9m
B) 18 m, 27 m B) 184, 27 .
D)3m,4m D) 3., 4.

7. The sum of the third and the seventh 7. T anieR Soft F fim g e s
terms of an AP.is 6 and- their 62 s 82 | i AV ¥ W
product is 8. Sum of first sixteen
terms of the A.P. are where e = &

A) 20 A) 20
B) 48 B) 48
C) 24 C) 24

D) 10 D) 10
= ragerions | v



8. A gulab jamun contains sugar syrup
upto about 30% of its volume. If each
Qulab jamun is cylindrical with two
hemispherical ends with length 5 cm
and diameter 2.8 cm. Then syrup
that would in 45 gulab jamuns is
A) 338 cm3
B) 330 cm3
C) 348 cm3

D) 340 cm3

9. A metallic sphere of radius 4.2 cm
is melted and recast into the shape
of a cylinder of radius 6 cm. Height
of the cylinder is
A) 2.74cm

C) 3.5cm

B) 3cm
D) 4 cm

10. The slant height of a frustrum of a
cone is 4 cm and the circumference
of its circular ends are 18 cm and
6 cm curved surface area of the
frustrum is
A) 24 cm?

B) 48 cm?
C) 12cm?
D) 60 cm?

11. The sum of the probabilities of all the
elementary events of an experiment is

A) 1 B) 0
1 3
© 3 D) 3

8. T& T A & 39eh oA A 30%
< ® | 9 TR O SR SeAeR
& Rorrht demd 5 8.1, e 2.8 4.ft. =
T @ S Ft SR T A 45 o
AT & et sTeet e @ 7

A) 338 9.11.3
B) 330 &.1.3
C) 348 @.ift.3
D) 340 9.#.3

9. Ti=m 4.2 9 . =1 U yeies e e
T § 3K 6 B, h e T O e
H pfa § gegen ™ d ) A9 A
ST &

A) 2.74 9.1,
C) 3.54.1.

B) 3 9.1,
D) 4 9.4,

10. g & Sas fi e Sad 4 4. 2
it 3% TuTR oK $ gReg 18 A
3k 6 V.. 2 | o 1 T U Ao B

A) 24 9.1 .2
B) 48 9.1.2
C) 1292
D) 60Q.7.2

11, & ¥4t & |+t difeas gemsd &)
wiRiRaTell #1 A 2

A) 1 B) 0
1 3
C)E D) 2

D 3vo



12.

13.

14.

15.

if the zeroes of polynomial
xX-3x°+x+1area—b,a a+b
thena—-b,a,a+bare

A) -1, -2, -2
B) 1, V2, -2
C) 1,42, 2
D) 1,-v2,-V2

The pair of lines 5x—4y + 8=0and
7X+8y—9=0are

A) Parallel

B) Perpendicular

C) Intersect at a point
D) Collinear

Half the perimeter of a rectangular
garden whose lengthis 4 m more than
its width is 36 m. The dimensions of
the garden are

A)20m, 16 m
B)5m,4m

C)14m,18m
D)4m,36m

Five years ago, Nuri was thrice as
old as Sonu. Ten years later, Nuri
will be twice as old as Sonu. How
old are Nuri and Sonu ?

A) 40 yrs, 20 yrs
B) 50 yrs, 30 yrs
C) 60 yrs, 30 yrs
D) 50 yrs, 20 yrs

I L

12. AR sgwdirx3 - 3x2 + x + 1% ITa—b,
a,a+b®,da-baa+b®

A) 1,42, -2
B) 1, V2, -2
C) 1, 42,2
D) 1,-v2, -2

13. @RI 5x -4y +8=03M7x + 6y —9 =(
P g
A) TIHIR
B) wwed
C) w fég W wfo=ad
D) &gt

14. TF AQrHR Fifen foresht o= st
<iers @ 4 o, 217tk &, <t aitama =1 3men
36 Y. & | =fi= &t fomnd &

A) 207, 16 7.
B) 54t., 4 4.
C) 1471, 18,
D) 4 4., 36 #i.
15. dra ad qd, i <t onyg Hig At sy i fF
Tom off | 10 ¥ v, T A g AL

Ay A AR A | A H g
Rt 7

A) 40 =€, 20 9§

B) 50 7, 30 9

C) 60 =4, 30 74

D) 50 =1, 20 ¥

av




ﬂG alffa'A‘.BC:jJDEFland their areas are
. 64 cm? andn 21 cm?respectively and
N EF"IL 15 4 ¢’ ‘then-BC is

A

- B) 1514

C) 11.2

D) 88

17~ if ABC is an equilateral triangle of
: sude 2a then length of its altitude is

Ay

B).3a
C)2a

D) J3a

18. Pointontheé x-axis which is equidistant
from (2, -5) and (-2, 9} is
A) (-7, 0)
B) (0,-7)
C) (7,0)
D) (0, 0)

19. Coordinates of the points of trisection
-of the line segment joining (4, —1)
and (-2, -3) is

A (7:9).(-%2)

B) (1,0), (0, 1)

C) (0,0), (2, 2)

D) (o-7):{2-%)

16. % A ABC ~ A DEF 3R 3% &%
waw: 64-4.1.2 it 121 4.2 € iR
EF=15.431. 3, @1BC®

A) 8
B) 15.4
C) 11.2

D) 88

17. a2 ABC U wag Frger 2 st s
2a %, A I=mE @
A) 4a
B) 3a
C) V2a

D) V3a

18. x-21y W =g faig st (2, -5) 3N (-2, 9)
YT R RE
A) (-7, 0)
B) (0, -7)
C) (7,0)

D) (0, 0)
19. (4, -1) 30 (-2, —3) ! S T {E@RES
F g figatt & fidem= €

A (-79(-%2)
B) (1, 0), (0, 1)
C) (0,0), (2, 2)

D) (0.-74).(2-%)
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20. The sum of the reciprocals of 20. TeuH <t <l 9 g 9 vl 9 g i oy
Rehman’s ages, 3 years ago and 1
] % el a0 7 — B, 8 Suhi adam
5 years from now is —, then his 2 3
Sk
present age is
A) 5years A) 5
B) 6 years B) 6
C) 8 years C) 8=
D) 7 years D) 7 a¢
21. Value of k for the equation 21, 2 9uR g el TR ko (x— 2) + 6= 0
kx (x — 2} + 6 = 0 having two equal & kA R
roots is A) 4
A) 4
B) 6
B) 6
C) 0 C)o
D) 24 D) 24
22. Which of the following is an A.P. ? 22, Friifem 5 & -t weh oot i} 7
A) 2, 4, 8, 16,... A) 2: 4! 8! 161"' "I
B) -10,-6, -2, 2.... B) -10,-6,-2, 2,...
C) 0.2, 0.22, 0.222, 0.2222, ... C) 0.2, 0.22, 0.222, 0.2222,...
D) 1,3,9, 27,... D) 1,3,9,27,..
23. 30" termofthe A.P.: 10,7, 4,... is 23. T Avit 10, 7, 4,... F 30 @ R
A) ~74 A)-74
B) - 80 | B) - 80
C) -77 C) -77
D)-83 - D) -83

D 3D



24. The angle of elevation of the top of a
tower from the point on the ground,
which is 30 m away from the foot of the
tower is 30°. Height of the tower is

A) V3m
B) 1043 m
C)1i0m
D) 3m

25. The angle of elevation of the top of
a building from the foot of the tower
is 30° and the angle of elevation of
the top of the tower from the foot of
the building is 60°. If tower is 50 m
high, height of the building is

A) 234m
B) 3%m
C) 1634m

D) 16%m

26. How many tangents can a circle
have ?

A) one
B) two
C) infinite

D) zero

24, T F ¥ 1 guae W e fag, forh
AR enan & g 307, &, A IR
30° % { AR A S R

A) 3 .
B) 10J3.
C) 107,
D) 370

25, WHR ¥ TR A AT F 1Y 1 IAF R0
30° & 3 zama 3 amur A AR F i
I B0 60° & | af HEw 50 W, I=h

2 AEE A IAER

A) 2% .
B) 3% .
c) 1634 .

D) 1624 .

26, e g0 ot Ferert Taet Yad & wehelt € 7

A) @&
B) &
C) 3a

D) I

D " Page No.9 | 3D




27. An umbrella has 8 ribs which are
equally spaced. Assuming umbrella
to be a flat circle of radius 45 cm the
area between two consecutive ribs

is (use n= 22/7)

28 P
cm
A) 22275

22277 em?
28

22275 cm?
28

22279 om?
28

B)

C)

D)

28. Area of a sector of angle p
(in degrees) of a circle with radius R is

A) (2nR)

720°

2
B) 720 720° 7207 &™)

nR)

P
©) 360°

.D) 360 (2nR?)

29. Atoyisin the form of a cone of radius
3.5 cm mounted on a hemisphere of
same radius. The total height of the
toy is 15.5 cm. The total surface area

of the toy is (n= 2%)

A) 2143cm2  B) 214.4 cm?
C) 2146cm2 D) 214.5cm?

Pag No. 10

-
I,

27. U B F wvat gt w fRa g arfwi # |
B3 FI 45 A4, it B e & 9
W A R @ wivw ahEl & i W
é’i‘lﬁ%(n':z%)

28
A) 22275 d.#.2

22277 o a2

B) —28

22275
4.2
28 N

22279

C)

a2

28. fisu R T @ ga % @ p (Raft 6) &
T T 1 S5 §

(2=R)

p
A 720°

B) (2rR?)

720°

nR)

p
©) 360°

D) (2rR?)

360

29, w e 3.5 3. N F & IF F
9 3 & N wHH B o o ol ey T
% | Reeht o S=nd 155 AR B
Reelt 1 F1 7T BT (1:=2%)

A) 2143372 B) 214472
C) 214.6 8.2 D) 214583 .2

3VD
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30.

31.

32.

33.

34.

If P(E) = 0.05, then probability of
‘not E'is

A) 1
B) 0.95
C) 0.90
D) 0.75

A die is thrown once, the probability
of getting a number lying between
2and6is

3 1
A)z B) 2

C)% D) 4

A die is thrown twice. Probability that
5 will not come up either time is

A 14
36
1
B) —
)32
C) 1

25
D) ?6-

A bag contains 5 red balls and
some blue balls. If the probability of
drawing a blue ball is double that of
a red ball then number of blue balls
in the bag

A) 10 B) 5
C) 15 D) 20
HCF of 196 and 38220
A) 90 B) 45
C) 15 D) 196

30. 3R P(E) = 0.05, A ‘E 7 8" i miekaT §

A) 1
B) 0.95
C) 0.90

D) 0.75

31. ttawiﬁaft@aﬁmm%,zams%s

g £ S G T FE Y wiewa
3 1

A 2 B) 7
1

C) 2 D) 1

32. @mamﬁmwﬁls%maﬁ
AT A ) TR 3

) 4
36
1
B_.
)2
C) 1

25
D) '56

33. WA s e i e el i E 1Ak
v T g 4 2 fich e & fread
=5t wifdrerar S 2, o il el R
A) 10 B) 5
C) 15 D) 20 -

34. 196 2l 38220 W H.W.Y. B
A) 90 B) 45
C) 15 D) 196
3VD
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35.

36.

37.

38.

If HCF (306, 657) = 9, then
LCM (306, 657) is

A) 22328
B) 22338
C) 22348

D) 22358

Choose the rational number.
1

M 7

B) 745

C) 6++/2
D) 7/49

Quadratic polynomial having sum
and product of its zeroes /2, 1/3
respectively is

A) 3x2-3/2x + 1

B) V2x2-3x + 1

C) -3x% +3V2x +1

D) 3x2 + 342 x + 1

The zeroes of 3x* +6x3—2x2—10x—5

are \/E and - \E The remaining
3

Zeroes are
A) -1, -1
B) -1, 1
C) 1,1

D) 1, 1

35. Rk .49, (306, 657) = 94t
.91.9. (306, 657) &

A) 22328
B) 22338
C) 22348

D) 22358

36. iey g e |

1
A T3
B) 745
C) 6+2

D) 7449

37. w& Tomeht sguda & ¥ @t @ ik
TR P2, /3R MR

A) 3x2-3v2x + 1
B) V2x2—3x+ 1
C) -3x2+ 3/2x+1
D) 3x2 + 3v2x + 1

38, 3t + 6x3 - 22 - 10x - 5% YA ‘E
W_Jgﬁlm’ﬁ‘\’ﬁ%
A) -1, 1
B) -1, 1
C) 1, -1
D} 1, 1

Page No. 12 3VvD
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39. A fraction becomes % when 1 is
subtracted from the numerator and
it becomes -1— when 8 is added toits
denominator. The fraction is
5

A) 72

B) _>
12

40. |f the product of two consecutive
positive integers is 306, then the

integers are
A) 16, 17 B) 17,18
C) 18,19 D) 19,20

41. Roots of the equation
J2x2+7x+52 =0are

a9, aaaimﬁmmm%a‘lmﬁa%
3 s w8 I .}@raﬁn%n

fm?

40. IR 3 HiH TAE o B PEEA
306 ¥, A U1l &

A) 16, 17
C) 18, 19

B) 17,18
D) 19,20

41. iR J§x2+7x+5f=oaa

D 3VD




42. The number of terms in the
A.P.:18, 15%, 13, ...,— 47

A) 27
B) 28
C) 29
D) 30

43. How many terms of the A.P.
9, 17, 25,... must be taken to give a

sum of 636 ?
A) 10 B) 12
C) 14 D) 16

44, ABCD is a trapezium in which
AB || DC and its diagonals intersect
each other at a point O. Then

A) AD || BC

AO _CO
B) Bo " BO

AO _CO
C) Bo "bo

AB _AO
D) bc " po

45. Dis a point on the side BC of a triangle
ABC such that |[ADC =|BAC . Then

A) CA2 = CB.CD
B) CB2 = CD.CA
C) CD2 = CB.CA
D) AB? = BC.CD

Page No. 14

42, gHia AR : 18, 15%, 13, ..., ~ 47 H W@
N EET B
A) 27
B) 28
C) 29

D) 30

43, 636 1 91T 2 = forg wwiw Soft
9, 17, 25.,... % o 75 fore s =g ?

A) 10 B) 12
C) 14 D) 16

44. ABCD T avels syt & st
AB || DC 3R a3 oyl T g i foig
O W wfo=de #@ &,
A) AD || BC
AC _CO
B) bo " BO

AQO CO

— T ——

C) BO DO

AB _AQ
D) bc " DpO

45. D fm ABC HI g1 BCR @& g 1@
v & 5 |ADC =|BAC , @

A) CA2=CB.CD
B) CB2=CD.CA
C) CD2=CB.CA
D) AB2 = BC.CD
3VD
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46. Centre of the circle passing through
the points (6, — 6), (3, - 7) and

(8,3)is
A} (-2, 3) B) (3.-2)
C) (3. 2) D) (2,3)

47. lf15cotA=8thensecAis

A %7
B) ¥s
o) 1%
D) '%

48. 2 tan245° + cos? 30° — sin® 60° is
A) 0
B) 2
C) 1
D) V3

49. tan 48° tan 23° tan 42° tan 67° is
A)O
B) 2
C)1
D) V3
cosA +1+sinA___
1+sinA  cosA
A) 2sec A
B) 2 cosec A
C) 1+sinA
D) cos A

50.

D) cos A

46. (6,-6), (3,—7) 3 (3, 3) gl A oA
CIGESE T

A) (-2, 3)
C) (3.2)

B) (3,-2)
D) (2, 3)

47. AR 15cotA=8 AMsecA®

A) %7
B) %5
o "%
D) "%

48. 2 tan2 45° + cos? 30° —sin260° 8
A) 0
B) 2
C) 1
D) V3

49. tan 48° tan 23° tan 42° tan 67° %
A) O
B) 2
C) 1
D) V3

cosA  1+sinA_
1+SinA  CcOSA
A) 2sec A

B) 2 cosec A
C) 1+sinA

50.

3VD



51.

52.

53.

54,

PHYSICS

The human eye can focus objects at
different distances by adjusting the
focal length of the eye lens. This is
due to

A) Astigmatism

B) Accommodation
C) Near-sightedness
D) Far-sightedness

How much work is done in moving a

charge of 5 C across two points having
a potential difference of 10V ?

A) 50 J B) 0.5J
C) 24 D) 0

Resistance of the conductor
depends on

A) Length

B) Area

C) Temperature

D) All the above

The resistance of a metallic rod
of length 1 m and radius 20 cm
is (given resistivity of the material
rod = 2 x 1078 Qm)
A) 2x10%0

T
B) 22 x10%0

T
c) 2x107%0

T

D) 82,1080
T

vt famm

51, A TG o i e g I gHERG
1 g il ghell w agel #t T@

GRIEITE_ FHagae |

A) gedsg
B) WWIESH
C) freregfed
D) gEgfeed

52. 10 V & fnmaim o &t figedt & ot
5 C ¥ e 21 A o i o e R R

A) 50 J B) 0.5J
C)2ad D)O

53. T G o1 T w Rk

AT |

A) T
B) &F%d
C) T =

D) Sw @ft

54. 1 T & waTE 3i 20 el St P Tl
s uifers o8 i Wiy (93 = Al

giegear = 2 x 1078 Q)

A) 241070
n

B) 22 <1070
T

C) 5x10%0
T

D) 22,100
T

Page o 16
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A

§5. An electron enters a magnetic field
at right angles to it as shown in the

55. T TR For f R STFAR G TR
2 7 T X e e | T W

fig. The direction of force acting on < W B anf
the electron will be
4 Electron 4 T
> - Ja
Magnetic field L
A) to the right A) o 3Nt
B) to the left B) &E 3R
C) out of the page C) 75 @ @l
D) 7%= & Hiw

D) into the page

56. At the time of short circuit, the 56. T afke 3 wwa, afde ¥ e

current in the circuit

A) reduces substantially A) g A a8
B) does not change B) i T &l
C) increases heavily C) T w5 B
D) vary continuously D) AR Sgerdl &

57. 100 J of heat are produced each
second in a 4 Q resistance. The
potential difference across the

57. T 4 Q Yieduw A 100 J S Wi 48
Sefea Bt & | sy ff i R

resistor is

A) S5V A)5V
B) 20V B) 20V

C) 10V C) 10V
' D)oV

D)oV
D 3Vb




58. Find the total resistance in the

circuit.
R
~—AMA
4\ - MMA__ ~J
— Re
+

@

A Rs o
Rs

H1=5Q,F12=209
R3=300Q, R, =20Q, R =60 Q

A) 18 Q B) 14 Q
20
C) 16 Q D) =0

58. The phenomenon of production of
induced current in a coil placed in
a region where the magnetic field
changes with time is

A) Lorentz force
B) Electromagnetic induction
C) Eddy currents
D) Joule heating

60. Which of the following is a non-
conventional source of energy ?

A) Fossil fuels

B) Hydro power plant
C) Thermal power plant
D) Solar energy

N O
58. wffe # o gftkg 3 Al |

R
—S>— AN

* —>—M/’F’*\2/L-— v

N

Rs
(ER.VV oV, —
Rs

R3=30Q, R, =200, R;=60Q

A) 18 0 B) 140
20
C)16Q D) —7-9

59. 99 & WY YT 8 TEe Tl 0F &
A F Pl R @A AT e HsamT |
H afmen g
A) TR ae
B) fRmgHg yeria
C) Tt grrd
D) & S
60. Frferfas & @ -1 il w5 fn-wwma
Hag
A) 93 $uq
B) st fargga we
C) ardta =il v
D) ¥R St
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61.

62.

63.

A lens with power —2D indicates that
the lens has

A) Focal length of —0.5m and is
concave

B) Focal length of — 0.5 m and is
convex

C) Focal length of — 2 m and is
concave

D) Focal length of — 2 m and is
convex

No matter -how far you stand from
a mirror, your image appears erect
and the image distance remains
same as that of the object distance.
The mirror is likely to be

A) Plane

B) Concave

C) Convex

D) None of the above

An object is placed at a distance
of 10 cm from a convex mirror of
focal length 15 em. The position and
nature of the image is

A) 30 cm, in front of the mirror,
real and inverted

B) 30 cm, behind the mirror, virtual
and erect

C) 6 cm, behind the mirror, virtual
and erect

D) 6 cm, in front of the mirror, real
and inverted

61. 2D WfFw &1 & o9 gwial & f& 3@
oa

A) B gl — 0.5 7 & 3iR 7% 37eaw §
B) W gl — 0.5 3 elRaE I Y

C) B gl — 2t ¥ I ag s B

D) rFa gl — 2 f & s ITa @

62. R s ek el e o A aor & ok
UGS R, 3o wfafeE whar S e R
PagH P ATAA w1 TR TR

A) wHad
B) ¥¥aqd

C) 3ue
D) 9l & & g T

63. T =g 15 At i EiE gl A T ST
i & 10 At hr g T § | ek At
iy AT R

A) 30 ft, 307 AR, TR 3

Jedl

B) 30 ¥, gdw & 19, amueht iR
e

C) 6 &, dur & D, ameht 3k
e

D) 6 &, Fd0r 3 WA, Tt it

Jeel

3VvD
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64.

65.

66.

When object is placed beyond the
center of curvature of a concave
mirror, then the size of the image is

A) Enlarged
B) Same size

C) Diminished

'D) Highly enlarged

A ray passing through the principal
focus of a concave mirror after
reflection

A) Will retrace the same path of
incident ray

B) Will refiect obliquely

C) Will emerge parallel to the
principal axis

D) Will appear to diverge from the
principal focus

The larger value of absolute refractive
index in the following list of materials
are

A) Fused quartz
B) Rock salt
C) Sapphire
D) Diamond

64. S T 95 P UH Gqel U0 & FehRal

F= F I war S ], @ 36 wfafe a
TR e &

A) =1 gail

B) @qH

C) Bt

D) reaftrs et gl

65. T Jaael- g0 3 WU Bihd & Tt g8

A) 3mafea o S aam g W T
ST

B) foet wualda anft

C) WUH A& % THHIGL 3WTh

D) wu= Sy 8 fsaud g3 s
Ll ,

66. eyl i Frfifa gft & qui arvedaiE

1 Aftead 7E §

A) R =S
B) &1 9%
C) iem

D) ¥
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CHEMISTRY

67. 2PbiNOs)s—=—>2PbO +4NO, +0; .

Here X is
A) Ni

B) Hy,SO,
C) Heat

D) Sunlight

68. Glucose combines with O, in the
cells of our body and provides
energy. This reaction is called

A) Combination
B) Respiration
C) Digestion

D) Combustion

69. Bronze is the alloy of
A) Cu & Sn B) Cu&Zn

C) Pb & Sn D) Cu&Pb

70. Formula of washing soda
A) Na,C0O4.10H,0
B) Na,CO,.5H,0
C) Na,COy.4H,0
D) Na,CO,4

D _ Page No. 21
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67. 2Pb(NOg),—2—2PhO +4NO, +0; .
TEX B

A) Ni
B) H,S0,
C) &=

D) HRm

68, e TR W PR B O, ¥

1Y TR SR g el WaH T ¢ T8
rfifsren weadt
A) sFsH
B) &
C) T=A
D) T&
69. wiww _ __ dfummge
A) CusiRSn B) Cu3RZn
C) Pb3ftSn D) Cu3RPb

70. UTE G816 §F &
A) Na,CO5.10H,0
B) Na,CO,4.5H,0
C) Na,CO,3.4H,0
D) Na,CO4
3VD



71.

72.

73.

74,

75.

The element which is sonorous
A) Aluminium

B) Gallium

C) Selenium

D) Sulphur

The metal which possess very low
melting point

A) Sodium
B) Potassium
C) Lithium
D) Caesium

Nature of CuQ is
A) Acidic

B) Basic

C) Neutral

D) Amphoteric

Amphoteric oxide is
A) ZnO

B) K,0O

C) Na,O

D) CaO

The metal which reacts with cold
water

A) Pb
B) Al
C) Fe
D) K

N e

71. 98 acd S I R
A) TegHtam
B) fiferam
C) Jmfm
D) e

72. 9% arg foraeh IS 3eda f 3
A) Bifemm
B) iR
C) whferem
D) HifSram

73. CuOHimgRi
A) i
B) &k
C) A
D) 3wt

74, I TS 7
A) ZnO
B) K,O
C) Na,O
D) CaO

75. 98 uTg S wiae sict % a1y rffsen
F B
A) Pb
B) Al
C) Fe
D) K
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76.

77.

78.

Sodium hydroxide reacts with zinc
and liberates

A) Hydrogen
B) Oxygen
C) Sodium

D) Carbon

MnO,, + 4HC| — MnCl, + 2H,0 + X,
where X is

A) O,
B) Mn

C) H,

D) Cl,

Decomposition of Silver bromide is
an example for

A) Exothermic reaction

B) Endothermic reaction

C) Precipitation_llreaction

4

D) Double displacement reaction

76. Tifsan TRgiawse fore % Ty el
T § 3R aa A s |

A) TIEgISH
B) ATaS
C) Qifemm

D) SeH

77. MnO, + 4HCl — MnCl, + 2H,0 + X,
e X R
A) O,
B) Mn
C) H,

D) Cl,

78. e sivrgs % fage & e §
A) Feieest i
B) Serterandt stfifeRan
C) arasmur afferar

D) fafereemem arfirfran
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79.

80.

81.

82.

83.

Aqua regia is a mixture of conc. HCI
and conc. HNO; in the ratio

A)3:1
B)Y1:3
C)2:3
D)3:2

Chemical formula of cinnabar
A) HgO

B) Hg,Cl,

C) HgS

D) HgCl,

The process of heating a substance
in the absence of air is called

A) Calcination

B) Roasting

C) Evaporation

D) Thermit reaction

is added to Pickel as
preservative.

A) Vinegar

B) Acetic acid

C) Glacial acetic acid
D) Baking soda

Sweet smelling compound among
the following is

A) Diethyl ether
B) Diethyl ester
C) Ethanoic acid
D) Propanoic acid

A 1

79. TEERRETgifE HCI 3R Fifkd HNO T
_ Fagmd e

A)3:1
B)1:3
C)2:3
D)3:2

80. Téra (faex) = Temafir g @
A) HgO
B) Hg,Cl,
C) HgS
D) HgCl,

81. a7y <t ergufeufa & fereft wamel =t il
&) yfhan gerd

A) Feama
B)
C) st
D) ST Affsran
82. = WMIAmAUREFEFEIH
ST R | ‘
A) ferant
B) wRifes sima
C) =iftee wfifes or<
DECUKIEY

83, 7 & Wit i 3 arven A R

A) FTEEEIRS §0
B) 3RS T
C) 33ig o
D) SigsH o7
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BIOLOGY

84. Where are the reproductive parts of
angiosperms located ?

A) Fruits
B) Seeds
C) Flower
D) Root
85. Which trophic level do pesticides
enter the food chain ?
A) Producers

B) Herbivores
C) Carnivores

D) Top camivores

86. Energy derived from food we eat is
stored in our body in the form of

A) Glucose B) Starch

C) Glycogen D) Glucagon

87. Which of the following are responsible
for the opening and closing of the
stomatal pore ?

A) Epidermal cells
B) Guard cells
C) Chioroplasts

D) Nucleus

D

g

84. At 3 wor 3 el RGN E ?
A) &
B) i
C) ™
D) 7&/5%

85. T Mfewar Tt T Hieare SRR Fa
dufyedad?

A) TS
B) wiEhert
C) it
D) i wiawEr
86. TR TN WY MY i A Frerareh S e
T i %9 T wfta Bt B
A) TG B)
C) mghiod D) W
87. T3 10 & o & go ot ag B & forg
Frafifaa i } i SRt @ 7
A) STRTeT= SHIfTRT
B) &1 IR
C) TR
D) &5
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88.

89.

80.

The traits controlled by specific
genes and are passed from one

generation to other is
A) Acquired trait
B) Inherited trait
C) Dominant trait

D) Recessive trait

An animal having rudimentary eyes

among the following
A) Octopus |
B) House fly

C) Cockroach

D) Planaria

The scientist who gave the theory of

evolution is

A). Harold C. Urey
B) Charles Darwin
C) J. B. S. Haldane

D) Stanley L. Miller

| 6 i

88. 3 T =Y fafire < ¥ e A9 ¥

SR e i & gu it Y FRg I @

A) Farffd 11

B) e o

C) Wt 7o

D) et U
g9. refufiga & & frw sfa f iR

A E?

A) Afaad

B) TRe wEE!

C) Hiai=

D) @&
90. 3o 1 Rrgia o gt 3 foan 7

A) ¥ies df. R
B) =y SIfaH
C) ¥, &, . giesA
D) Ve T, fieer
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o1.

92.

93.

ﬂlmmmmmmm

Hormones secreted by which of
the following gland are responsible
for people who are either dwarfs or
giants 7

A) Thyroid
B) Hypothalamus
C) Pituitary

D) Adrenal

Which among the following is the
product of fertilisation ?

A) Gamete
B) Pollen grain
C) Zygote

D) Embryo

Gregor Johann Mendel was born in
the year

A) 1822
B) 1832
C) 1852

D) 1884

91. freferfaa & 4 frw 1fa & g wfaa
S e o ofr e 8 & foe
It & 7

A) EUES
B) Juv=d®
C) dr
)RUECK]

92. Frfiaa f P-w A W IR 2 7

A) IH%

B) TR |
C) T ll

D) 4

93, TR deamwway ____®
sl

A) 1822
B) 1832
C) 1852

D) 1884



94,

95.

96.

97.

The insertion of Copper-T in the
uterus to prevent pregnancy falls
underwhich category of contraceptive
methods ?

A) Surgical method
B) Barrier method

C) Intra uterine contraceptive
device

D) Chemical method

Which category of organisms forms
the starting point of a food chain ?

A) Secondary consumers
B) Herbivores
C) Producers

D) Tertiary consumers

Amoeba takes in food using
temporary finger like extensions of
the cell surface known as

A) Flagella

B) Villi

C) Pseudopodia
D) Cilia

Which of the following reproduces
by multiple fission ?

A) Bacteria

B) Plasmodium
C) Yeast

D) Amoeba

Page No. 28
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94, TURY H b 3 oA T F FR-&

e mifRie Rt f Rea goft §
e ?

A) wreafsen faf

B) raly fafu

C) e iy mitiee yorel
D) wamaf fafu

95. Sl Wl PH-|T T TH AR FgeA Hl

i fage ?

A) Tl ot
B) SRRl

C) ST

D) qeliae IaviiET

96. refian FTEH g5 i SR el S

FTETRT 61 TR S §Y HISA TE0
t fm Fgd 5

A) i

B) 3ige (faa)

C) T (ggitean)
D) =t (iferan)

97, TariRiftaa i & 2 TgEe S T A S 7

A) sfarg

B) wisWisan

C) @

D) s
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98.

99.

100.

The amount of energy that will be
available to big fish in the food chain :
Small Algae — Zoopiankion — Small
Fish — Big Fish, if 10000 J of energy
is available to small algae from the
sun is

A) 1000 J
B) 100J
C) 10J
D) 0.1J

The dialysing fluid used during
dialysis is devoid of nitrogenous
wastes but has the same osmotic
pressure as

A) Urine
B) Blood
C) Lymph
D) Water

Which of the following statements
are not correct ?

A) Basic event in reproduction is
the creation of a DNA copy

B) The DNA in the cell nucleus
is the information source for
making proteins

C) Two copies of the DNA are
made in a reproducing cell

D) Evolution during reproduction
is the basis for variation

08. I} g & S A I I9cted =i 10000 J
2, B Faw — [Eiwe - B 7Sl
— < Aot AR Faen § 7€ wech W
IqTHEY St oy WA Bl
A) 1000 J
B) 100 J
C) 10J
D) 0.1J

99, a7die ¥ I wgF Tdies 5d § A1gESH

arqfire T g Wy IHH TUETT
F T B 8 |

A) T
B) T
C) wEi
D) 9

100. FrfRea f @ F-T s g TR 7 -

A) werA i wem we diee wfafafy
&1 Pmior &

B) =ifir dem # AT WEH TR
F R gEnw = &

C) T [Scuresh Fifvem § e
A wfeferitiet s st §

D) Yo & 3 e faferran =t
AT R
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Answer Key for 3 VD (Set-D)
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Answer Key Q. No. | Answer Key

[\ % TN N [P Lk N T W T N AT N (U N U N R N W '
N a0~ hwNaog@dNOO RN 2]z

b bbb A A DA R W W W W W

51
52
53
54
55
56
57
58
59
60
61
62
63
64
65
66
67
68
69
70
71
72
73
74
75
76
77
78
79
80
81
82
83
84
85
86
87
88
89
90
91
92
93
94
95
96
97
98
99
100

FPOVOTPOTPONPP 2000000000000 000002>»0002>00PTPPr>r0000> @
OnOmO00>»00000mO>»0OW>»>»0>P 0020200200 00000>>»000000w0>T




